uses type cast?
eclipse

uses type cast?
envision reduced

envision default

0.6 - 0.6 - 0.6 -
> > >0 |
= 0.4 - £0.4- = 0.4
c c i %
A ™ A d o il
0.2- 1 0.2- 0.2-
0.0- ” 0.0- . 0.0- ”
I I I I I I I I I I I
25 5.0 7.5 2 4 6 8 2 4 6 8
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string local variable? string local variable? string local variable?
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if with else? if with else? if with else?
eclipse envision reduced envision default
_ _ 1.5 <5 4- ——
— 3 -
2 -
= 210" =
‘D ‘D @5
e 1 c - =
(] (] (]
Q1- ] Qp5- . Q - e
7
.- I BN 111111111 I
I I I I I I I I I I I I I
1.0 1.5 2.0 25 3.0 0.0 2.5 5.0 7.5 10.0 1.0 1.5 2.0
int second parameter? int second parameter? int second parameter?
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nested loops? nested loops? nested loops?
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3 parameters? 3 parameters? 3 parameters?
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creates new objects? creates new objects? creates new objects?
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catches any exceptions? catches any exceptions? catches any exceptions?
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loop with 2+ method/constructor calls? loop with 2+ method/constructor calls? loop with 2+ method/constructor calls?
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multiple returns? multiple returns? multiple returns?
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